General Info

Number: Description: PROJECT NO. 54-19-01

PUMP STATION IMPROVEMENTS PORTAGE SERVICE PLAZA MILEPOST 197.0 PORTAGE COUNTY, OHIO

Deadline:

FEBRUARY 5, 2020 AT 2:00 P.M. (EASTERN)

(Estimated Cost: \$750,000.00)

Business Bi A.P. O'Horo Company S.E.T., Inc. S.E.T., Inc. Nerone & Sons, Inc. J.S. Bova Excavating LLC	
S.E.T., Inc. Nerone & Sons, Inc.	d Total
Nerone & Sons, Inc.	\$712,384.00
·	\$729,707.98
IS Boya Excavating IIC	\$844,035.00
	\$960,894.50
Lockhart Concrete Co.	\$1,299,000.00
Mosser Construction	\$1,477,170.00

A.P. O'HORO COMPANY

Ref.		Description	Quantity	Units	Unit Price	Extension
No.	Item No.	-	-			
		PREMIUM FOR CONTRACT PERFORMANCE	1	LUMP	\$40,000.00	\$40,000.00
1	IB.ART.6	BOND AND PAYMENT BOND				
2	614	MAINTAINING TRAFFIC	1	LUMP	\$45,000.00	\$45,000.00
3	623	CONSTRUCTION LAYOUT STAKES	1	LUMP	\$4,500.00	\$4,500.00
4	624	MOBILIZATION	1	LUMP	\$20,000.00	\$20,000.00
					Total:	\$109,500.00

VEMENTS ((Ref. Nos. 5-23)				
	Description	Quantity	Units	Unit Price	Extension
Item No.					
201	FENCE REMOVED FOR REUSE OR STORAGE	160	LF	\$5.40	\$864.00
202	REMOVE EXISTING STRUCTURES	1	LUMP	\$10,000.00	\$10,000.00
	AGGREGATE REFILL, TYPE E (NO. 57	25	CU. YD.	\$96.00	\$2,400.00
203	LIMESTONE)				
203	BORROW	20	CU. YD.	\$32.00	\$640.00
	CLASS QC 1 CONCRETE PUMP STATION BASE	1	LUMP	\$10,000.00	\$10,000.00
511	SLAB, AS PER PLAN				
		170	LF	\$26.00	\$4,420.00
607	FENCE, TYPE CLT, 3 STRANDS BARBED WIRE				
607	GATE, TYPE CLT, 3 STRANDS BARBED WIRE	1	EACH	\$1,250.00	\$1,250.00
SPECIAL	4" SDR 21 PVC FORCE MAIN	1,100	LF	\$39.00	\$42,900.00
SPECIAL	FILL AND PLUG EXISTING 4" FORCE MAIN	80	LF	\$12.00	\$960.00
SPECIAL	COMBINATION AIR VALVE AND MANHOLE	6	EACH	\$10,000.00	\$60,000.00
	REPLACE EXISTING ABOVE GROUND AIR	3	EACH	\$10,400.00	\$31,200.00
SPECIAL	RELEASE MANHOLE				
SPECIAL	PRE-FABRICATED PUMP STATION BUILDING	1	LUMP	\$75,000.00	\$75,000.00
	Item No. 201 202 203 203 511 607 607 SPECIAL SPECIAL SPECIAL SPECIAL SPECIAL	Item No.201FENCE REMOVED FOR REUSE OR STORAGE202REMOVE EXISTING STRUCTURES AGGREGATE REFILL, TYPE E (NO. 57)203LIMESTONE)203BORROW CLASS QC 1 CONCRETE PUMP STATION BASE511SLAB, AS PER PLAN607FENCE , TYPE CLT, 3 STRANDS BARBED WIRE 607607FENCE , TYPE CLT, 3 STRANDS BARBED WIRE SPECIALSPECIAL4" SDR 21 PVC FORCE MAIN SPECIALSPECIALFILL AND PLUG EXISTING 4" FORCE MAIN SPECIALSPECIALCOMBINATION AIR VALVE AND MANHOLE REPLACE EXISTING ABOVE GROUND AIR SPECIALSPECIALRELEASE MANHOLE	DescriptionQuantityItem No.FENCE REMOVED FOR REUSE OR STORAGE160201FENCE REMOVED FOR REUSE OR STORAGE160202REMOVE EXISTING STRUCTURES1AGGREGATE REFILL, TYPE E (NO. 5725203LIMESTONE)20203BORROW20CLASS QC 1 CONCRETE PUMP STATION BASE1511SLAB, AS PER PLAN170607FENCE , TYPE CLT, 3 STRANDS BARBED WIRE1607GATE, TYPE CLT, 3 STRANDS BARBED WIRE1SPECIALFILL AND PLUG EXISTING 4" FORCE MAIN80SPECIALFILL AND PLUG EXISTING 4" FORCE MAIN80SPECIALREPLACE EXISTING ABOVE GROUND AIR3SPECIALRELEASE MANHOLE5	Item No.QuantityUnits201FENCE REMOVED FOR REUSE OR STORAGE160LF202REMOVE EXISTING STRUCTURES1LUMPAGGREGATE REFILL, TYPE E (NO. 5725CU. YD.203LIMESTONE)20CU. YD.203BORROW20CU. YD.211SLAB, AS PER PLAN1LUMP607FENCE, TYPE CLT, 3 STRANDS BARBED WIRE170LF607GATE, TYPE CLT, 3 STRANDS BARBED WIRE1EACHSPECIALFILL AND PLUG EXISTING 4" FORCE MAIN80LFSPECIALFILL AND PLUG EXISTING 4" FORCE MAIN80LFSPECIALRELEASE MANHOLE6EACHREPLACE EXISTING ABOVE GROUND AIR3EACH	DescriptionQuantityUnitsUnitPrice201FENCE REMOVED FOR REUSE OR STORAGE160LF\$5.40202REMOVE EXISTING STRUCTURES1LUMP\$10,000.00AGGREGATE REFILL, TYPE E (NO. 5725CU. YD.\$96.00203LIMESTONE)20CU. YD.\$32.00203BORROW20CU. YD.\$32.00511SLAB, AS PER PLAN1LUMP\$10,000.00607FENCE , TYPE CLT, 3 STRANDS BARBED WIRE1\$26.00607GATE, TYPE CLT, 3 STRANDS BARBED WIRE1\$26.00SPECIAL4" SDR 21 PVC FORCE MAIN1,100LF\$39.00SPECIALFILL AND PLUG EXISTING 4" FORCE MAIN80LF\$12.00SPECIALCOMBINATION AIR VALVE AND MANHOLE6EACH\$10,000.00SPECIALRELEASE MANHOLE6EACH\$10,000.00SPECIALRELEASE MANHOLE13EACH\$10,000.00

17	SPECIAL	REPLACE EXISTING PUMPS	1	LUMP	\$240,000.00	\$240,000.00
18	SPECIAL	PIG LAUNCHING STATION	1	LUMP	\$58,000.00	\$58,000.00
19	SPECIAL	PIG RECEIVING STATION	1	LUMP	\$40,000.00	\$40,000.00
		TEST EXISTING AIR RELEASE AND	1	LUMP	\$1,050.00	\$1,050.00
20	SPECIAL	COMBINATION AIR VALVES				
21	SPECIAL	REPLACE DEFECTIVE AIR RELEASE VALVE	2	EACH	\$3,900.00	\$7,800.00
		REPLACE DEFECTIVE COMBINATION AIR	1	EACH	\$1,400.00	\$1,400.00
22	SPECIAL	VALVE				
23	SPECIAL	BYPASS MANHOLE	1	LUMP	\$15,000.00	\$15,000.00
					Total:	\$602,884.00
					i utai.	ψυυ2,004.00
TOTAL BID AMOUNT REF. ITEMS 1 THROUGH 23						\$712,384.00

S.E.T., INC.

GENERAL (Ref. Nos. 1-4)							
tension							
\$8,927.00							
\$16,073.00							
\$4,518.50							
\$88,041.00							
\$117,559.50							

IMPRO	VEMENTS	S (Ref. Nos. 5-23)				
Ref.	Item No.	Description	Quantity	Units	Unit Price	Extension
No.						
5	201	FENCE REMOVED FOR REUSE OR STORAGE	160	LF	\$6.00	\$960.00
6	202	REMOVE EXISTING STRUCTURES	1	LUMP	\$3,675.00	\$3,675.00
7	203	AGGREGATE REFILL, TYPE E (NO. 57	25	CU. YD.	\$84.86	\$2,121.50
_		LIMESTONE)			•	•
8	203	BORROW	20	CU. YD.	\$25.00	
9	511	CLASS QC 1 CONCRETE PUMP STATION BASE	1	LUMP	\$11,104.45	\$11,104.45
		SLAB, AS PER PLAN				
10	607	FENCE, TYPE CLT, 3 STRANDS BARBED WIRE	170	LF	\$31.15	\$5,295.50
11	607	GATE, TYPE CLT, 3 STRANDS BARBED WIRE	1	EACH	\$1,347.50	\$1,347.50
12	SPECIAL	4" SDR 21 PVC FORCE MAIN	1,100	LF	\$43.79	\$48,169.00
13	SPECIAL	FILL AND PLUG EXISTING 4" FORCE MAIN	80	LF	\$20.75	\$1,660.00
14	SPECIAL	COMBINATION AIR VALVE AND MANHOLE	6	EACH	\$13,478.34	\$80,870.04
15	SPECIAL	REPLACE EXISTING ABOVE GROUND AIR	3	EACH	\$13,849.61	\$41,548.83
		RELEASE MANHOLE				
16	SPECIAL	PRE-FABRICATED PUMP STATION BUILDING	1	LUMP	\$65,222.80	\$65,222.80
17	SPECIAL	REPLACE EXISTING PUMPS	1	LUMP	\$234,043.43	\$234,043.43

18	SPECIAL PIG LAUNCHING STATION	1	LUMP	\$48,384.46	\$48,384.46		
19	SPECIAL PIG RECEIVING STATION	1	LUMP	\$44,156.06	\$44,156.06		
20	SPECIAL TEST EXISTING AIR RELEASE AND	1	LUMP	\$3,300.00	\$3,300.00		
	COMBINATION AIR VALVES						
21	SPECIAL REPLACE DEFECTIVE AIR RELEASE VALVE	2	EACH	\$3,108.65	\$6,217.30		
22	SPECIAL REPLACE DEFECTIVE COMBINATION AIR VALVE	1	EACH	\$3,108.65	\$3,108.65		
23	SPECIAL BYPASS MANHOLE	1	LUMP	\$10,463.96	\$10,463.96		
				Total:	\$612,148.48		
TOTAL BID AMOUNT REF. ITEMS 1 THROUGH 23							

NERONE & SONS, INC.

GENERAL (Ref. Nos. 1-4)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE	1	LUMP	\$6,700.00	\$6,700.00	
		BOND AND PAYMENT BOND					
2	614	MAINTAINING TRAFFIC	1	LUMP	\$10,500.00	\$10,500.00	
3	623	CONSTRUCTION LAYOUT STAKES	1	LUMP	\$4,600.00	\$4,600.00	
4	624	MOBILIZATION	1	LUMP	\$78,400.00	\$78,400.00	
					Total:	\$100,200.00	

IMPROVEMENTS (Ref. Nos. 5-23)								
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
5	201	FENCE REMOVED FOR REUSE OR STORAGE	160	LF	\$17.00	\$2,720.00		
6	202	REMOVE EXISTING STRUCTURES	1	LUMP	\$13,500.00	\$13,500.00		
7	203	AGGREGATE REFILL, TYPE E (NO. 57	25	CU. YD.	\$85.00	\$2,125.00		
		LIMESTONE)						
8	203	BORROW	20	CU. YD.	\$45.00	\$900.00		
9	511	CLASS QC 1 CONCRETE PUMP STATION BASE	1	LUMP	\$15,400.00	\$15,400.00		
		SLAB, AS PER PLAN						
10	607	FENCE, TYPE CLT, 3 STRANDS BARBED WIRE	170	LF	\$27.00	\$4,590.00		
11	607	GATE, TYPE CLT, 3 STRANDS BARBED WIRE	1	EACH	\$1,500.00	\$1,500.00		
12	SPECIAL	4" SDR 21 PVC FORCE MAIN	1,100	LF	\$55.00	\$60,500.00		
13	SPECIAL	FILL AND PLUG EXISTING 4" FORCE MAIN	80	LF	\$55.00	\$4,400.00		
14	SPECIAL	COMBINATION AIR VALVE AND MANHOLE	6	EACH	\$19,700.00	\$118,200.00		
15	SPECIAL	REPLACE EXISTING ABOVE GROUND AIR	3	EACH	\$16,500.00	\$49,500.00		
		RELEASE MANHOLE						
16	SPECIAL	PRE-FABRICATED PUMP STATION BUILDING	1	LUMP	\$84,400.00	\$84,400.00		
17	SPECIAL	REPLACE EXISTING PUMPS	1	LUMP	\$233,700.00	\$233,700.00		
18	SPECIAL	PIG LAUNCHING STATION	1	LUMP	\$64,400.00	\$64,400.00		
19	SPECIAL	PIG RECEIVING STATION	1	LUMP	\$48,200.00	\$48,200.00		

20	SPECIAL TEST EXISTING AIR RELEASE AND COMBINATION AIR VALVES	1	LUMP	\$1,500.00	\$1,500.00			
21	SPECIAL REPLACE DEFECTIVE AIR RELEASE VALVE	2	EACH	\$5,400.00	\$10,800.00			
22	SPECIAL REPLACE DEFECTIVE COMBINATION AIR VALVE	1	EACH	\$2,600.00	\$2,600.00			
23	SPECIAL BYPASS MANHOLE	1	LUMP	\$24,900.00	\$24,900.00			
			-	Total:	\$743,835.00			
TOTAL BID AMOUNT REF. ITEMS 1 THROUGH 23								

J.S. BOVA EXCAVATING LLC

GENERAL (Ref. Nos. 1-4)

Ref.	Item No.	Description	Quantity	Units	Unit Price	Extension
No.						
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND	1	LUMP	\$12,000.00	\$12,000.00
		AND PAYMENT BOND				
2	614	MAINTAINING TRAFFIC	1	LUMP	\$36,100.00	\$36,100.00
3	623	CONSTRUCTION LAYOUT STAKES	1	LUMP	\$5,700.00	\$5,700.00
4	624	MOBILIZATION	1	LUMP	\$39,255.00	\$39,255.00
					Total:	\$93,055.00

IMPROVEMENTS (Ref. Nos. 5-23)							
Ref.	Item No.	Description	Quantity	Units	Unit Price	Extension	
No.							
5	201	FENCE REMOVED FOR REUSE OR STORAGE	160	LF	\$9.00	\$1,440.00	
6	202	REMOVE EXISTING STRUCTURES	1	LUMP	\$9,000.00	\$9,000.00	
7	203	AGGREGATE REFILL, TYPE E (NO. 57 LIMESTONE)	25	CU. YD.	\$100.00	\$2,500.00	
8	203	BORROW	20	CU. YD.	\$25.00	\$500.00	
9	511	CLASS QC 1 CONCRETE PUMP STATION BASE SLAB,	1	LUMP	\$11,000.00	\$11,000.00	
		AS PER PLAN					
10	607	FENCE, TYPE CLT, 3 STRANDS BARBED WIRE	170	LF	\$28.85	\$4,904.50	
11	607	GATE, TYPE CLT, 3 STRANDS BARBED WIRE	1	EACH	\$1,225.00	\$1,225.00	
12	SPECIAL	4" SDR 21 PVC FORCE MAIN	1,100	LF	\$39.65	\$43,615.00	
13	SPECIAL	FILL AND PLUG EXISTING 4" FORCE MAIN	80	LF	\$37.50	\$3,000.00	
14	SPECIAL	COMBINATION AIR VALVE AND MANHOLE	6	EACH	\$24,285.00	\$145,710.00	
15	SPECIAL	REPLACE EXISTING ABOVE GROUND AIR RELEASE	3	EACH	\$21,160.00	\$63,480.00	
		MANHOLE					
16	SPECIAL	PRE-FABRICATED PUMP STATION BUILDING	1	LUMP	\$330,250.00	\$330,250.00	
17	SPECIAL	REPLACE EXISTING PUMPS	1	LUMP	\$89,150.00	\$89,150.00	
18	SPECIAL	PIG LAUNCHING STATION	1	LUMP	\$66,350.00	\$66,350.00	

19	SPECIAL PIG RECEIVING STATION	1	LUMP	\$51,375.00	\$51,375.00	
20	SPECIAL TEST EXISTING AIR RELEASE AND COMBINATION AIR VALVES	1	LUMP	\$2,750.00	\$2,750.00	
21	SPECIAL REPLACE DEFECTIVE AIR RELEASE VALVE	2	EACH	\$6,700.00	\$13,400.00	
22	SPECIAL REPLACE DEFECTIVE COMBINATION AIR VALVE	1	EACH	\$6,250.00	\$6,250.00	
23	SPECIAL BYPASS MANHOLE	1	LUMP	\$21,940.00	\$21,940.00	
			-	Total:	\$867,839.50	
TOTAL BID AMOUNT REF. ITEMS 1 THROUGH 23						

LOCKHART CONCRETE CO.

GENERAL (Ref. Nos. 1-4)

Ref. No.	Item No	. Description	Quantity	Units	Unit Price	Extension
1	IB.ART.	6 PREMIUM FOR CONTRACT PERFORMANCE	1	LUMP	\$9,940.00	\$9,940.00
2	614	BOND AND PAYMENT BOND MAINTAINING TRAFFIC	1	LUMP	\$29,000.00	. ,
3	623	CONSTRUCTION LAYOUT STAKES	1	LUMP	\$7,500.00	\$7,500.00
4	624	MOBILIZATION	1	LUMP	\$17,400.00	\$17,400.00
					Total:	\$63,840.00

IMPROVEMENTS (Ref. Nos. 5-23)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
5	201	FENCE REMOVED FOR REUSE OR STORAGE	160	LF	\$5.00	\$800.00	
6	202	REMOVE EXISTING STRUCTURES	1	LUMP	\$14,750.00	\$14,750.00	
7	203	AGGREGATE REFILL, TYPE E (NO. 57	25	CU. YD.	\$50.00	\$1,250.00	
		LIMESTONE)					
8	203	BORROW	20	CU. YD.	\$45.00	\$900.00	
9	511	CLASS QC 1 CONCRETE PUMP STATION BASE	1	LUMP	\$19,000.00	\$19,000.00	
		SLAB, AS PER PLAN					
10	607	FENCE, TYPE CLT, 3 STRANDS BARBED WIRE	170	LF	\$26.00	\$4,420.00	
11	607	GATE, TYPE CLT, 3 STRANDS BARBED WIRE	1	EACH	\$1,225.00	\$1,225.00	
12	SPECIAL	4" SDR 21 PVC FORCE MAIN	1,100	LF	\$60.00	\$66,000.00	
13	SPECIAL	FILL AND PLUG EXISTING 4" FORCE MAIN	80	LF	\$20.00	\$1,600.00	
14	SPECIAL	COMBINATION AIR VALVE AND MANHOLE	6	EACH	\$17,000.00	\$102,000.00	
15	SPECIAL	REPLACE EXISTING ABOVE GROUND AIR	3	EACH	\$17,000.00	\$51,000.00	
		RELEASE MANHOLE					
16	SPECIAL	PRE-FABRICATED PUMP STATION BUILDING	1	LUMP	\$490,526.00	\$490,526.00	
17	SPECIAL	REPLACE EXISTING PUMPS	1	LUMP	\$325,389.00	\$325,389.00	

18	SPECIAL PIG LAUNCHING STATION	1	LUMP	\$61,000.00	\$61,000.00	
19	SPECIAL PIG RECEIVING STATION	1	LUMP	\$49,900.00	\$49,900.00	
20	SPECIAL TEST EXISTING AIR RELEASE AND	1	LUMP	\$4,500.00	\$4,500.00	
	COMBINATION AIR VALVES					
21	SPECIAL REPLACE DEFECTIVE AIR RELEASE VALVE	2	EACH	\$4,000.00	\$8,000.00	
22	SPECIAL REPLACE DEFECTIVE COMBINATION AIR VALVE	1	EACH	\$2,000.00	\$2,000.00	
23	SPECIAL BYPASS MANHOLE	1	LUMP	\$30,900.00	\$30,900.00	
				Total:	\$1,235,160.00	
TOTAL BID AMOUNT REF. ITEMS 1 THROUGH 23						

MOSSER CONSTRUCTION

GENERAL (Ref. Nos. 1-4)								
Ref. No.	Item No.	Description	Quantit	Units	Unit Price	Extension		
			У					
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANC	1	LUMP	\$8,000.00	. ,		
2	614	MAINTAINING TRAFFIC	1	LUMP	\$170,000.00	\$170,000.00		
3	623	CONSTRUCTION LAYOUT STAKES	1	LUMP	\$15,000.00	\$15,000.00		
4	624	MOBILIZATION	1	LUMP	\$40,000.00	\$40,000.00		
					Total:	\$233,000.00		
IMPROVEMENTS (Ref. Nos. 5-23)								
Ref. No.	Item No.	Description	Quantit	Units	Unit Price	Extension		
			у					
5	201	FENCE REMOVED FOR REUSE OR STORAG		LF	\$15.00	\$2,400.00		
6	202	REMOVE EXISTING STRUCTURES	1	LUMP	\$10,000.00	\$10,000.00		
7	203	AGGREGATE REFILL, TYPE E (NO. 57 LIME	25	CU. YD.	•			
8	203	BORROW	20	CU. YD.	•	. ,		
9	511	CLASS QC 1 CONCRETE PUMP STATION B.	1	LUMP	\$10,000.00			
10	607	FENCE, TYPE CLT, 3 STRANDS BARBED W	170	LF	\$26.00	. ,		
11	607	GATE, TYPE CLT, 3 STRANDS BARBED WIF	1	EACH	\$1,300.00			
12	SPECIAL	4" SDR 21 PVC FORCE MAIN	1,100	LF	\$65.00	, ,		
13	SPECIAL	FILL AND PLUG EXISTING 4" FORCE MAIN	80	LF	\$25.00	. ,		
14	SPECIAL	COMBINATION AIR VALVE AND MANHOLE	6	EACH	\$22,000.00	. ,		
15	SPECIAL		-	EACH	\$23,000.00			
16	SPECIAL		1	LUMP	\$330,000.00	, ,		
17	SPECIAL		1	LUMP	\$325,000.00	. ,		
18	SPECIAL		1	LUMP	\$120,000.00	\$120,000.00		
19	SPECIAL	PIG RECEIVING STATION	1	LUMP	\$95,000.00	\$95,000.00		
20	SPECIAL	TEST EXISTING AIR RELEASE AND COMBIN	1	LUMP	\$1,000.00	\$1,000.00		
21	SPECIAL	REPLACE DEFECTIVE AIR RELEASE VALVE	2	EACH	\$5,000.00	\$10,000.00		

22	SPECIAL	REPLACE DEFECTIVE COMBINATION AIR V	1	EACH	\$5,000.00	\$5,000.00
23	SPECIAL	BYPASS MANHOLE	1	LUMP	\$50,000.00	\$50,000.00

Total: \$1,244,170.00

TOTAL BID AMOUNT REF. ITEMS 1 THROUGH 23 ------ \$1,477,170.00